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BI0.3.1.01.080 Explain the role of the human body system in maintaining homeostasis
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ol i s Las e gl o glaat) JSIN B

AT I PLI RPN

ol pon 5 ) Sl alic s S

........................... aday SV 4 ()5S ) il & 5

i) g ALl pa Al i Saall Ja i

.......... a5 alall g )l g Sl e S5 A Sleal)

Oyl ) 51 Y Jo Bl § Doyl a1 90 2 mo.a.1.o1.asn|

11 K4

BI0.3.1.01.080 Explain the role of the human body system in maintaining homeostasis |

s o

el ilac

Figure 11

131

2=y =

dtal) dlanl)

sludal) Alianl)

dalCgl) Al

_hﬁgm\géh»y

a.::.\\ Y - adalaia

Adautal) g 48841

dula)al) slast) cpa LSl o
el slaei s Al
plakall ey )23 (8 olud canagd)
elaal) g darall g (s pall i

Ui gY) Aol g aliadly Jags i

(4231 — ddakia)

gl N

dalaia & A Y

Al gy aSadl) ¢Sy 4331

o) S A

hanll gl - Sl -]
o) Sgalles cosd) Sl ¢

AUS ALl 330 dlas)

Agall Jaip ALY puiadl ASa 32 L) puia

...............

....... jleadl Ciiliy o peaall 16



e _..,.,.fd
= <
-_— —_—

AUae ) ede L Laa (wisal) céss g

T eSral) s Pl.:k.“ d\:n_)a.'lg!ﬁ Y= PO

......................... f4,0)) Aabaie Alme L ady i
................... Lsadl) Lo oY) (A da 5 AN DLl £ 5 La

........................ Qi) B a6 A L) £ 6 La-

AL Lgd) Jldal) JISEN) Cra JSI Aland) zeacdl) a) uiS)

oLl Jaadl alal £1,81 A uulial) Aliaal) b ) ua

4884 plaa) B aa) gl Aldae & CBlaal)

........................... 430 Y dabia dlae el gl

Jiads Higme 3905 paud dugasell Bigad Al g lall eldy (e JaBlod (sl of Auloes¥l) Amsiyl pdiacdl oW Ol CauS’ wds  BIO.3.1.01.083

A L oY) Ao gy alliad) aa Juali (Al Aliaad)

Crmas GRS e Aumlidl Cigylall il die s Jeallg Blondl dud e elidl e a3l Ol g) e Los SLS gL
BIO.3.1.01.083 Explain how the feedback mechanism:

13 JKad

gh either p

or negative.

Figure 13

132

A Cag jall s 2

LS Al 33uY) alas)



bl lgal) - Al Slgalld el s A e a3 Sl pa B
AL Sgal-s ool Jgadl g % (D )oualis G Blal A3 plas
I gl alla,

JSall 8 ey andanill il gl (ol
gots -

M‘-&._\

nlﬁat}” <l - Bjo Falak
(@BioFalak

;L'AQT-E

3

3 jeal =3 s -z Aol - Gsta -
rthl) gdall Crada A Adima ) ga ipaS A)

SO LET Y] ™ T Lk
.................................................... 0V Aulall leall Cailda g aal (g
.......................................... oS bl Sleal) cailla g aal g

a3y radagl) gl Gale Ll psingg aall b oS slall adhll 3 sl 515 iy puae
4d Laala

JSall 4 eday anasill il sisa (4

OLiY ] AN OB e Bliell (§ Digadl B3gal 095 m%  BIO.3.1.01.080 3 Jga=di
] 133
BI10.3.1.01.080 Explain the role of the human body system in maintaining homeostasis table 3

e

aalolly Zoalali) saally Glawlily SlanBls mall
Aptaall slpall (smluntels aecaas oblatadb (folag L e 2 i sikomi =
- ) SR : LS e : claeWls An.Boall claaWls saxeils e 5.olls P |}
wittoanant] trkisonsharmtoad ) mg i e ! ale pSuadls 55 podls .Sy Adam. bl

AN5ks ClZLEANF JSLAS i) ] bt e Blallly S, ol agal dlg ApmnW) i=ab, oo}
PR VI } | Dlindls ASlsgl!) ea iy ASlswl) Ay i3

Loole dula=lly dspuel) calelg—J) glas) i g, Sad)
(se2aW L Lliz)) 3l L F) Laluug

Jhmints Lgnle dola—Jly uluasgdt zlas) -,‘5,:..;.'-31
et e ) e dalaedlg dssiod) cmalslen=l)

saalls mmmlls Slaeeem 3 L 5 SAN
Bems s et Bladg lamen ) o sema ¥ s
S e e

aeusS) Lalls Axiastl algalls s S fa
Lgadls mmd) La3s s gD czaSlicaally ChssS) mollsy Fasenl) SieaWils coalnll e
B P B e

) e dmnlly mseadl pa =il ala Mty lum Mg S 0g I Gnlnally iz 1<) =
LAls plin)s Spges! clime®) Splesg pemu=d) o= R = )
Aty 50 [ B PR 1] Lisad) T Su T
iz A% ol pleaulls yobacll 5530, sl AT 2 s =
e o 3lg ) dane ApalsFl mewsd) 3% Alieally elowled) Atz Mg FalS . gl al " "
. : e 3 P B
el pmman o le lalma iy LY J PR SRS LW | =
PP S, PRSI | WIS DS . SEol 1 RO L £
erle dalaaly Aua slsdls AxlsVall =ul 3500 A al) LSSy o Se )l feaile Elaad) .
a = - 3 t_‘.v——-—‘"
A2l oW) e mllage eS—ally Ll G155 S WOVGR | I S - S =

daa113U0s

anally AiBsall ssaily asol=sll sl
B st IV S ATy Ap SN Sy A Lt

ol ladt G hat o le dalaa Vg cmuliss gdl 31,.3) S . = e 23 bt} 2oaid)
= Glamasally (sulp Sa,ly Ay.ae 30 Soally
Pl SN | PPN

S IPRUINPY [ PSP | PRSI IR I | ERPCPS G | -9 S Slaaily alima )l and) coule, S dalseolls alaad)
= edls (gsaall Aaslues e T [}

Crmaliondl rlasls S50 ,ad) Ao ;s melsais Rsles) Lalia¥ls ety alsd) PR

o https://t.me/amanikittaneh

LS Al 33uY) alas)


https://t.me/amanikittaneh

10 duppaall Bl s A A8y A0S0 SLAYlg (guoall Jeadl iy ABblall mbys  BIO.3.1.01.086) 250 141

- ol s i g ol Jea B
(8) Synapse -
s Sl : L
g () Eladll ) (ranand) Jlaed) Ji5 Ay A 44 -1
() clianllg 2l ) e Jlaeadl (B35 dpsas 43 29
( )induacdll g3

=N :luaﬂlﬁh‘asimwﬂldwlmwaﬂh.4

SLLiall Aihia ) Jedy b Laa Cija (gf coliaf JSi 3
§ el

S gl Jusedl
Spinal cord ——__

(N
A
Y tas s B N
Interneuron l H
~ D) —
D-3 C-z B- Al
etical result if a person o) JRGR padull) ol 13} Asal S8Y) Auil) G 9SSiew 13la
ALS Al dusaall LMA

MOTOR NEURON

aili dy yamdall 25lg3)l Dendrtes
asnanll Loyl signal

e paanmnll jgseall e
danasnll Siljladl

e o ol e )8 o & Gl ol e )58 05 Gl
2l A gl gt B RIS PP P 1005 oSy
» T Y gl (B ] Jload) Ay el Y 6 -

[y
(B)\ Synapse
Sgail Jaull 3N

Spmalc:i)\"__ v ‘ \ (€ Lj‘sﬂ‘ ‘M‘_% éLA.ﬂ‘-i
Alal)-s Sl

(il Sa ) G gll) (B ananl) Joaad) ol
Auls +— .S, Airme A 4t don diiiae ads B
Als ¢ Ain Aeune duds ¢ A= depme ads D

‘E'_‘S_r}a'-_"—:m

AUS Al 330 das)



Aopaall RISl e AVEH 30,55 ALy g8 SLEYYY guaall Jiead iy Ablall ming BIO-S-l-mmsl 3 JEa | 141

Na*t apapealdl cubigd paien o) 3 JS 2 = e a— o o — = = gy gmt g e ot e pm———
Al g base 3smes K paeubisdly ;
ENEN T EYE R TERP S EPCI gt i TN | Nq- 5

s gt e gasl 200 Ry Biacta \ \ —i s
HEL T R s Na* Na* K'I N?’ N. Na*

I 1

K+

/—Q..D\—)\ -..i Nas
e @

K+

Tpgrwligs poidgall dnbe US> dzxuii Lduoy 3l LbWhich is the result of the actions of the sodium-potassium pump

Gnmall Aadal Jaln Al daa t aga g

a. negative charge inside a neuron
EETIOE I EG S FU R EPUC ARy
b. no charge inside the neuron
omaall Aall # A fial 2 pa g aae
c. no charge outside the neuron
Agreantl AJAN a0 Aam go din S dga g

a o

positive charge inside a neuron

g Autiaall Ll zylsg il Lupmall Al Jils Jazms @l Le

AN JA1a Al Al il ) dgag -
SR G STz AN B A gud geal) gl -
LS JANAl (B a el gul) il gl -
ew&g_eﬁd}‘dl%dm&bbgg -
?M‘Mi@hiﬁldﬁdﬁ“\u
g L g Gl Al JANa (5% 5 ) Jld) Jua 55 Y dpsand) 4140

. L Y Lo ) Qs
A LW HLSBY) pgd

4 Mo\ e B W S e ) pasa)
K

+t+ - |=-]- + + =+

/ c.'a')LL.‘ e ) Al J.L.]‘ L .49

.é__h_._..:n_IJ‘ 4'1__._1_"7-.J1 K I.\Q,__._..ul_'ig._.Jl .;wl_ig__w‘l J_'--_L'l A
as]) Ads ) e A i) Adl lisy s 7o B
[ Awraa)) adsJ) ) Na s9339.a]! ..’_JL}}AJ Jd=as ] e ]

IS e olsgsT) saems zresas Lo o pualaled! (L3 Jlss D
o M) Liial)

i

LS Al 33uY) alas)



PEYI DT I v o i) Tz Zl i) Sl S oo e 5y

T s e Sl i 5 I T QP {/‘

BES g P TN { e.a vy = S RS S-S (S [ - ,r N 3
i EN PP SRS | JEW S | P8-SO | S, | 5
—— 54 ees A 4| RJ.. s
T Tl

R VP ;@,.J_MWL#U@
="'T‘__;'.._.L_.Q.i'|_t.a.a.il.,dh.a.¢._§l saeedl 25 il sace 3

P C RS VSO . o U | B - | W 1
L e L L e )
=

I S-S [ [P | PR SN | B | PO~ B CPS o &

B e o S S SR J) I f Lo S
B .,j_"j‘)“'-"” ezl L:.n-..".l'b\.ag_’.;- f'-":'l;} .\_.;‘__-i-l 4
_?}L-.:Jl EIJ;‘-‘_:H Jo= e Aaall Jﬂ;.;it
I =
/ 3)‘ L;@']Jc-ﬁ«#‘&:&fjuw\%}_ﬁb“
JER I~ (P EO S, R U E P Pl gy~ SO LRSS |
—_———

b

o)l Bl pe ANED AekSy AT eSl ELEYIS gmmndl Jlewdl (o 331 2 BIO.3.1.01.086) 5 Jsa
15 143
BIO.2.1.01.086  Explain how the nerve impulse is similar to an electrical and how it moves along a neuron. Figure 5
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